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Type of Questions M.M., Min.
Comprehension (no negative marking) Q.1 to Q.3 (3 marks, 3 min.) [9, 9]
Single choice Objective (no negative marking) Q.4, 5, 6, 7 (3 marks, 3 min.) [12, 12]
Subjective Questions (no negative marking) Q.8,9 (4 marks, 5 min.) [8, 10]

COMPREHENSION (Q. No. 1 to 3)

Consider the equation |2x – 1| – 2|x – 2| = 

1. If the above equation has only one solution, then  belongs to

(A) {–3, 3} (B) [–3, 3] (C) (–3, 3) (D) 

2. If the above equation has more than one solutions then  belongs to

(A) {–3, 3} (B) [–3, 3] (C) (–3, 3) (D) 

3. If  = 6, then the above equation has

(A) only one solution (B) only two solutions. (C) no solution. (D) more than two solutions.

4. If the roots of the equation x2 + 2 cx + ab = 0 are real and unequal, then the roots of the equation

x2 – 2 (a + b) x + (a2 + b2 + 2 c2) = 0 are :

(A) real and unequal (B) real and equal

(C) imaginary (D) rational

5. If – 3 + 5i is a root of the equation x2 + px + q = 0, then the ordered pair (p, q) is (p, q R)

(A) (– 6, 34) (B) (6, 34) (C) (34, – 6) (D) (34, 6)

6. If the quadratic equation ax2 + bx + a2 + b2 + c2  ab  bc  ca = 0,  where a , b , c are distinct reals,

has imaginary roots then :

(A) 2 (a  b) + (a  b)2 + (b  c)2 + (c  a)2 > 0

(B) 2 (a  b) + (a  b)2 + (b  c)2 + (c  a)2 < 0

(C) 2 (a  b) + (a  b)2 + (b  c)2 + (c  a)2 = 0

(D) none

7. If the quadratic equations ax2 + 2cx + b = 0 &  ax2 + 2bx + c = 0 (b  c) have a common root, then

a + 4b + 4c  is equal to :

(A)  – 2 (B)  –  2 (C)  0 (D)  1

8. Solve the equation :  |x+1| – |x| + 3 |x–1| –2 |x–2| = x+2

9. Solve the equation : 
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1. (C) 2. (A) 3. (C) 4. (C) 5. (B)

6. (A) 7. (C) 8. x   [2, ) {–2}

9. x  {–1}  (0, )


